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1 Introduction
To specify the RF requirements for E-UTRA, coexistence simulations involving E-UTRA are needed. Several simulation scenarios are agreed upon in [1]. This document presents simulation results for 10MHz E-UTRA-> E-UTRA FDD DL scenario in urban area with cell range 500m.
2 Simulation Assumptions
Two E-UTRA systems are simulated using a static simulation method. The propagation model, BS antenna radiation pattern and macro cellular deployment for the 10MHz E-UTRA FDD system are according to [1].  In particular, the carrier frequency is 2GHz for victim E-UTRA system and 2.01GHz for aggressor E-UTRA system. The BS antenna height is 15 meters above average rooftop level. A wrap around model with 19 tri-sector cells is used. Two systems are deployed with worst case shift between sites. 

Round robin scheduler is used and there are 24 UEs per sector. It is assumed that all RBs are used and one RB per UE is allocated. 

HO margin for cell attachment is [3] dB. UEs are uniformly dropped into the system and then attached to sectors according to the received signal strength. Each sector has exactly 24 UEs. 

The maximum BS TX power is 46 dBm. No power control is used for DL.  
The ACIR of the aggressor system is flat over the 10MHz channel.

Throughput (in bps/hz) for each UE is obtained according to the C/I to throughput mapping in [2] and the average system throughput is obtained.

3 Simulation Results 

The throughput loss of a victim 10MHz E-UTRA system as a function of ACIR is shown in Figure 1.  
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Figure 1.  10MHz E-UTRA FDD DL throughput loss
4 Conclusion
The simulation result shows that, if 5% throughput loss is considered acceptable, there is no problem for the co-existence of 10MHz E-UTRA with another 10MHz E-UTRA system in DL. 
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